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21 dx/dt=ex000000 (DODO0ODOD)

/f/* ____________________________________________________________
/* File Name: dxdt.c
/* compile: gcc dxdt.c -1lm
J e et et

#include <stdio.h>
#include <stdlib.h>

#include <math.h>
/ 00000 1 %/
main()
{

int i, n;

float t, dt, x0, x1, a;

/* 00000 =/

t =0.0; /x 0000 %/
x0=1.0; /x 0000 %/
a =-1.0; /00 %/

/* 00000000 =/
printf ("INPUT DATA dt ==> ");
scanf ("%f",&dt) ;

/* 000 n000 %/
n=(int) (1.0/4dt);

printf ("00\t,t=Vf\t,x(t)=Vf\n", t, x0);
for(i=0;i<=n;i++)

{

x1 = x0 + a*xx0*dt;

t t + dt;
printf ("%02d\t,t=0%f\t,x(t)=)f\n", i+1, t, x1);

x0 = x1;

}

printf ("THE END\n");
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22 dv/dt=ex000000 (D00ODOO)

/f/* ———————————————————————————————————————————————————————————— */ )
/* File Name: dvdt.c */
/* compile: gcc dvdt.c -1m */
J e et et */

#include "stdio.h"
#include "stdlib.h"
#include "math.h"
/* 000000 =/
main()
{

int i,n;

float t,dt,x0,x1,v0,vl,a;

oSO O O O

printf ("INPUT DATA dt 7 \n");
scanf ("%f",&dt) ;

n = (int) (1.0/4t);

printf ("00\tt= %f\tx(t)= %f\tv(t)= %f\n",t ,x0 ,v0);

for(i =0 ; i<=n ; ++i)
{
X1 = *kkx;
V1 = kkkk;
t =t + dt;
printf ("%02d\tt= %f\tx(t)= %f\tv(t)= %f\n",i+1,t,x1,vl
x0 = x1;
VO = skkx;
}
printf("THE END \n");
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23 00000000000

/f/* ————————————————————————————————————————————————————————————— */
/* File Name: tentai.c */
/* compile : gcc tentai.c -1lm */
Y et et e e */

#include <stdio.h>
#include <stdlib.h>
#include <math.h>

/ 00000000000 =/

/« 0000000 =/
void force(xl, y1, x2, y2, mmg, fx, fy)
float x1,y1,x2,y2,mmg,*fx,*fy;

float r, XX, yY;

xx = x1-x2;
yy = yil-y2;
r = sqrt(xx*xx + yy*yy);

*fx
*fy

-mmg*xx/ (T*r*r) ;
-mmg*yy/ (r*r*r) ;

}

main()
int i, j, n;
float t, dt, g, fx1, fyl, ml, m2;
float x0[2], x1[2], vx0[2], vx1[2];
float yo[2], yi[2], vyo[2], vy1i[2];
/% [0]:000, [1]1:000 %/

n 200; /* 0000000 =/

t
dt

g

ml

0.05; /* 0000 %/
4.0; /x 0000 %/
1.0; m2 = 1.0; /¥ 0000 %/

/ 0D0O000ooOog */
x0[0] = 1.0; yo[o]
x0[1] = -1.0; yoO[1]
/¥ 0000000 =/
vx0[0] 0.0; vyo0[0]
vx0[1] 0.0; vyO[1]

for(i=0;i<n;i++)

o
o
[eNe]
[eNe)

force(x0[0],y0[0],x0[1],y0[1] ,m1*m2*g,&fx1,&fyl);

/* &t 000000000000 oao *x/
x1[0]
vx1[0]
y1[0]
vyl[0]=
x1[1]
vxi[1]l=
yi[1] =
vyl[1]=

printf ("AENtAENtLENLAEN\t%AE\n", t, x1[0], y1[0], x1[1], yi[1]);
for(j=0;3j<2;j++)
{

x0[j]
vxO0[j]
yO[j]
vyO[j]

}
t =t + dt;
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